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The first genetic material could be
(A) Protein

(B) DNA (C) RN A 5 (D) Carbohydrates

2. Analogous organs arise dueto -

(A) Artificial selection (B)  Genetic drift

©) Convergent evolution (D) Divergent evolution
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3. The rnovement of Mimos_a (Tonch 4 rne-not) leaflet is

(A) Photonastic (B) - Thermonastic ' (C‘) Seisrrionasﬁe (D) Chemonastic 2}
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4.  Which of the followmg horrnone is not secreted by human placenta ?

(A) hCG #4018} "Estrovgen BT (o) B Progesterone (D) Bl
(@A ARG o3 (A FRO I N7 , r |
(A) hCG (B) TEEA *-(c') at@rc'%w (D) LH

5. In the F, Generatron of a Mendellan dihybrid cross the number of phenotypes and
genotypes are- : ' '

(A) Phenotypes — 4; Genotypes — 9 i Phenotypes - 9; Genotypes 4

(©) Phenotypes 4; Genotypes — 16 (D) Phenotypes - 4; Genotypes — 8
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26.  Which of'the following is an electrovalent compound ?
(A) C,H, (B) €O, (C) NaCl (D) H,0
e stefora et s e ¢
(A) C,H, (B) €O, 3 (C) NaCl (D) H,0

27.  Select the correct answer,
When a ray of monochromatic light of red colour passes through a prism, ‘we get on the
other side
(A) only one red coloured band of light
(B) seven bands of light of colours violet, indigo, blue, green, yellow, orange and red
(C) only one band of light of green colour
(D) no band of light at all.
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28. Which one of the followmg elements does not easﬂy part1c1pate in any chemlcal-
reaction ? : : :
(A) Carbon  (B) Sodlum L dC) Argon (D) Nickel
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29. The foul smelly gas that evolves when dilute sulfunc acid reacts with ferrous sulfide at
normal temperature is S 4
(A) hydrogen sulfide g (B) methane
(C) carbon monooxide (D) nitrogen :
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Select the right answer.

A Helium atom contains

(A) four protons and four electrons.

(B)  four neutrons and four electrons.

(C)  four protons and two electrons.

(D) two protons, two neutrons and two electrons.
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Atomic density of oxygen and. mtrogen are respectively 32 and 28. Also at normal
temperature and pressure, the volume of 32 gram of oxygen is 22.4 litre. What will be the
volume of 28 gram of nitrogen at the same pressure and temperature ?

(A) 224litre ~  (B) 19.6litre (€) 256litre - (D) 44.8 litre
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(A) 224f0@  B) 19.61%1613 ©) 256fe0R (D) 44.8 feibr

Which of the following'is a vector quantity ? 2
(A) Welght (B) Mass ~ (C) Area - (D) Time
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A student was cycling to her school at a uniform speed 10 m/sec She pressed the brake
near the gate of her school and stopped in 5 sec. How much force she applied through the
brake ? -

Consider the mass of the student and the cycle together is50kg.

(A) 50N (B) 200N - () 100N © (D) 10N
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(A) S0fEs - (B) 200% () 100fEF (D) 10 fASEH

Select the nght answer. :

An object will float in a liquid while completely 1mmersed when

(A) its weight and the buoyancy are equal.  (B) its weight is less than the buoyancy
(C) _ its weight is more than the buoyancy. (D) both weight and buoyancy are zero.
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If the volume and pressure of a certain amount of an ideal gas are respectively V, and P,
at an absolute temperature T, and V, and P, respectively at another absolute temperature
T,. then which of the following equivalence relation is correct ? '

e PV, PV, | i U v
T, 1, . o L i
Pl . P2 :
© VT _V2T2 v / (D) PVT P2VT
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When paral]el rays of light coming from a faraway distance falls on a concave mirror
parallel to its main axis, they meet at a point after reflection. Th1s point is called

(A) pole - (B) centre of curvature (C) focus - (D) axis
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Suppose that the focal length of a convgx lens is f, The if an object is placed at one side - .
of the lens on its axis at a distance 2f -

(A) An inverted i image will be created on the other side of the lens at a distance f.

(B) An erect image will be created on the other side of the lens at a distance 2f.

(C) An erect image will be created on the other side of the lens at a distance f.

(D) An inverted 1m'ag§ Wlll be created on the other side of the lens at a distance 2f,
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o ARITHMATIC (*1BYfs)
eél a certain number ig added to each of the numbers 2, 4, 6 and 10, the resultant
NUMOETS are ratio metric, What i that number ?

A) 3 (B) 4 (0} 4.5 10 50h TREYID
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If the present population of a vﬂlage is N and the yearly rate of rise of population s 2X%’
what will be the tota] population after 5 years ?
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A solid brass sphere of dlameter 42 cm s hammered to make a7l cm long cylmder What
will be the diameter of the cylinder ?

A) 84ecm  (B) 42cm Y e (D) Dem
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" Ram and Madhab together completes a _]Ob in 4 days. If they work separately, Madhab

needs 6 more days than what Ram needs to complete the job. In how many days will Ram
alone complete the job ?

~ (A) 12 days (B) 3days o ©) 6days (D) 9days
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Raiio of volumes of two cubes is 1:27. The ratio of their total surface area is
A) 1.3 (B) 1.9 ; (C) 1:8 - (D) 1L 18
qummwmwwm 27tcamwwmmwwm |
A) 13 , (B) . (©) 18 (D) 1:18
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ENGLISH GRAMMAR (2203t qi1a39)
Fill in the blank with the most appropriate word/group of words to make the sentence
meaningfully complete.
The horse stampeded and tore the street, ]
(A) after (B)  off (C) down (D) out

Fill in the blank with the most appropriate word/group of words to make the sentence
meaningfully complete.

Mobhan tries his best to keep sl the reputatlon of his famlly. ;

(A) up . (B) over ~(C) to (D) on

Find out which part of the sentence has an error.
If we have faith in Almighty everythmg will turn out - to be alnght and safe

B D 70 - o7 D)
Choose the word, which has nearly the same meaning as ADMONISH
(A) Praise (B) Appeal (C) Support (D) Rebuke

Choose the word, which is opposite in meaning to JEER. . N
(A) Clear - (B) Mock (C) Praise (D) Sneer

- Choose the word that can replace both the words in bold italics in the two given

sentences.

I. - The management did not find him suitable for the job of a clerk.

II.  Akash could not arrange all parts of the machine properly. T
(A) fit (B) employ (C) finish - (D) adjust -

Choose the word, which can most approprlately replace the bold italicized words in the
given sentence. .

A person can be sentenced to death for klllmg another human being.
(A) patnc1de (B) homicide (C) genocide (D) fratricide

Choose the option, WhJCh can best replace the group of words given :
‘One, who possesses varied talents’

(A) versatile (B) talented (C) gifted (D) excellent -

Observe the two 1tahclzed words in the followmg two sentences and give your
observation by choosing any one optlon below. ,

I.  We should not interfere in one’s personal affairs.

II.  The personnel of civil services are a proud lot.

(A) Only sentence-I is correct.

(B) Only sentence-II is correct.

(C) Both sentences I and II are correct.

(D) Neither sentence I nor sentence II is correct.

Choose the most effective word to fill in the blank to make the sentence meaningfully
complete.

Only those who have completed seventeen years of age are - to apply for the
examination, : \ .
(A) eligible (B) legible (C) selected (D) illegible
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